IS COURNET VIR RVOSIC JUINCW 1 BUNCIA RV CRr S

>, Y1
S ¥
NISOC &g&)jTquMl 52 )'lSPSI‘;qﬂ;)oIJ,I :‘IEII{I}%%%I’\(I =
:Q““ﬁ?’ OJL“‘; TYPICAL INSTRUMENT INSTALLATION DRAWING

053-073-9184

STV 3L R

S ) slo

e

sy

& e &

Ju-

BK

GCS

PEDCO

120

IN

DW

0001

osme vy ade SRl s e lads b

C CONNIETUINN RVRRN JCH 5t O A RN ¢

—

TYPICAL INSTRUMENT INSTALLATION DRAWING

IFC: Issued For Comment

IFA: Issued For Approval

AFD:
AFC:
AFP:
AFQ:

IFl: Issued For Information

Approved
Approved
Approved
Approved

For Design

For Construction
For Purchase

For Quotation

AB—R: As—Built for CLIENT Review
AB—A: As—Built — Approved

DO1 JUN.2022 IFI P.Hajisadeghi M.Fakharian M.Mehrshad

D00 MAR.2022 IFI P.Hajisadeghi M.Fakharian M.Mehrshad

REV. DATE PURPOSE OF ISSUE/STATUS PREPARED BY: CHECKED BY: | APPROVED BY: CLIENT APPROVAL
CLASS: 4 CLIENT Doc. Number:F2J-708942

STATUS: IDC: Inter—Discipline Check




& S i ol adg Gl 5 2 lag o34, @‘
h

ST e

NISOC K 5551 gor oWl 55 S8 (515 s, S last @ E
:Q‘»«:—g O)L»L TYPICAL INSTRUMENT INSTALLATION DRAWING
053-073-9184 0isp | amfaSplo] Mg | a2y (S pg) Sl | ans B 12 ekl
BK GCS PEDCO 120 IN DW 0001 DO1
Y| b0o | bot | poz 003 | pos [0os | X[ bbo | bot | poz | po3|po4| bos
PAGE PAGE
1 X | X 26 | X | X
2 | X | X 27 | X | X
3| X | X 28 | X | X
4 | X | X 29 X
5 | X | X 30
6 | X | X 31
7 | X | X 32
8 | X | X 33
9 | x| X 34
10 | X | X 35
1| x| X 36
12 | X | X 37
13 | X | X 38
14 | X | X 39
15 | X | X 40
16 | X | X 41
17 | X | X 42
18 | X | X 43
19 | X | X 44
20 | X | X 45
21 | X | X 46
22 | X | X 47
23 | X | X 48
24 | X | X 49
25 | X | X 50

REFERENCE !

LSPECIFICATION FOR INSTRUMENTATION

BK-GNRAL-PEDCU-000-IN-SP-0001_DO03

S INSTRUMENT & CONTROL SYSTEM DESIGN CRITERIA
BK-GCS-PEDCO-120-IN-DC-0002 _D01




S 15 o lie ady Gll 5 cnlags o35

4 ',
m “"’JY'CJ@ .PEDCO
NISOC S 5] oz oMBal 5o S8 (S5 ks, Sl @ ’E’
:Q‘&ﬁ—g 0)\4»:’ TYPICAL INSTRUMENT INSTALLATION DRAWING
053-073-9184 5n |68 am |l ONps | w2, | Sueps| S | e 28 5103 remo ol
AN PSSP RO AN IO BN
TITLE SHEET NO.REMARKS
<SUPPORT & STANCHION TYPICAL DETAIL>

PANEL MOUNTING/PIPE MOUNTING DO1 04
PANEL MOUNTING BRACKET/PIPE MOUNTING BRACKET 05
SUPPORT AT GROUND LEVEL (GENERAL PURPOSE) 06
SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS (FOR TwO INS.S 07
SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS (FOR THREE INS.S)| 08

09
IRON SHEET CUTTING FOR SUNSHINE 10
<JUNCTION BOX TYPICAL DETAIL>
JUNCTION BOX INSTALLATION , SINGLE (PAVED AREA) 11
JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREAD 12
JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREAD 13
JUNCTION BOX INSTALLATION , SINGLE (UNPAVED AREAD 14
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREAD 15
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREAD 16
<INSTRUMENT TYPICAL DETAIL>
INSTALLATION SMOKE/HEAT DETECTOR UNDER CEILING 17
INSTALLATION SMOKE/HEAT DETECTOR IN CONTROL ROOM CABLE TRENCH 18
INSTALLATION MANUAL CALL PDINT,HORN AND FLASH BEACDN DN 9
INSTALLATION FLASH LIGHT & SOUNDER 20
INSTALLATION DETAIL FOR FLAME DETECTOR 21
<CABLE TRAY TYPICAL DETAIL>
CABLE ROUTE MARKER POSTS P2
INSTRUMENT CABLE INSTALLATION ARDOUND JUNCTION BOX 23
INSTALLATION DETAIL FOR CABLE AROUND THE LOCAL INSTRUMENTS 24
CABLE TRAY SUPPORT 25
TYPICAL METHODS OF TRAY SUPPORT 26
CABLE TRAY SUPPORT 27
CABLE TRAY SUPPORT 28




b Sy i o Mee 4l Gl il 5 s lags o5 @‘

- : W

SR, 251
S &, 8] Kot 15 58 (,S| 5wy, Olast! HIRGAN —)

NISOC o3 C“’ A AN} > =) (‘ENERGY ED
:Q““i‘i ‘3)\“"; TYPICAL INSTRUMENT INSTALLATION DRAWING

053-073-9184 o5an |6l oS nlo [ Mg | an, | S pp| Jle | an 28 514 el
BK GCS PEDCO 120 IN DW 0001 DO1

PANEL MOUNTING

[

;

e T3 A
o NE———
W

@ BOLTS FOR PANEL

| \“
BOLTS FOR TRANSMITTER

MOUNTING & N
P

O e MOUNTING

PIPE MOUNTING

MOUNTING

2", U-BOLT FOR PIPE




& C COPRE S RPN PR 57 EPRCHCY R COPS e

&u_ﬁ‘s)}.[cqolﬁ;w.ﬁ-' 52 )lfps‘jbyb) KA ReY

NISOC @ [
toleg oled TYPICAL INSTRUMENT INSTALLATION DRAWING
053-073-9184 0552 (& oS plo| Mg |ty [ Sups| S [ s 28 515 eseo)ls
BK 6cs | PEDCO | 120 IN ow | ooot | Do
PANEL MOUNTING BRACKET
BOLTS FOR PANEL
MOUNTING

PIPE MOUNTING BRACKET




NISOC KCIVEPIN| qulﬁ;...;' 5 )'15(,5|,'; @5, Sl :‘Ek%%él%l  e— zD
:O““.‘.:’ ")L‘*; TYPICAL INSTRUMENT INSTALLATION DRAWING
-1 s .
053-073-9184 o5an |6l oS nlo [ Mg | an, | S pp| Jle | an 28 516 ramie ol
BK 6cs | pEDCO | 120 N ow | ooot | Dot

WELDED

250

1600

- g

FOR IDENTIFICATION

Is

WELDED

TRANSMITTER

B8
PN
LB

9099,

N
V]

1600

WELDED
WELDED @
4-HOLES @14 4-HOLES ¢14 = 3
FOR BOLTS M12/NUTS FORC:%OETQ; M12/NUTS === >
< 7
na B PLTF . @
250 \. STRUCTURE
350 250
400 350
FRONT VIEW FRONT VIEW o
CODE DESCRIPTION SIZE QTY. MATERIAL
01 |PIPE "¢ 1.6m CARBON STEEL
02 | CAP 2@ 1 CARBON STEEL
03 | STEEL ANGLE L 50x50x6t 0.65m | CARBON STEEL
04 | STEEL CHANEL UNP100 (100x50x5tx7.5t) 0.8m CARBON STEEL
05 | BASE PLATE 350x350x10t 1 CARBON STEEL
06 | BOLT & NUT M12x30L 4 CARBON STEEL H.D.G.




& S s e ad s Gl Bl 5 s lago o35 @
= Y ™
o7 iy
NISOC &%‘5)5]'6?0\&'@.;' 5 )-15(,5|; @5, Sl :‘Ek%%él%l

tobe o, ks TYPICAL INSTRUMENT INSTALLATION DRAWING
053-073-9184 o5an |6l oS nlo [ Mg | an, | S pp| Jle | an <8
BK 6cs | PEDCO | 120 IN ow | ooot | Do

SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS

WELDED

v
7
-4/
/®

[
s Q
a = “z .
g S—/// i8] ul //
SIDE VIEW
- WELDED
0
™,
i I
| O N / s o
Q%9 @
I T
4 HOLES w12 ™
o CHANNEL BASE & FDN DETAIL
L (BOTTOM VIEW)
Z
4 HOLES 912
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 PIPE, SCH 40 (L:1150mm) 2" CARBON STEEL 1 Piece
2 PIPE, SCH 40 (L:450mm) 2" CARBON STEEL 2 Piece
3 PIPE, SCH 40 (L:400mm) 2" CARBON STEEL 1 Piece
4 CAP, SCH 40 2" CARBON STEEL 2 Piece
5 PLATE 250 x 250 x 6t CARBON STEEL 1 Piece
6 EXPANSION BOLT M10 x 100L CARBON STEEL H.D.G. 4 Piece
7 STIFFENER PLATE 80 x 200 x 6t CARBON STEEL 4 Piece




b oo g gl adg (2l 51 5 calags o5 2 @
= . Y ™
SR e
NISOC KCIVEPIN| qulﬁ;...;' 5 )-15(,5|; @5, Sl :‘Ek%%él%l Eza
:Qte-:—j ‘3)\4»; TYPICAL INSTRUMENT INSTALLATION DRAWING
N S« S au| - . . < ; L . 28 )t 8 tdls 0)‘»3
053-073-9184 Sax | am oS plof s |,y [Saeps| Jb | as
BK GCS PEDCO 120 IN Dw 0001 DO1
SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS
WELDED
WELDED
WELDED
\@ WELDED ;
a // \ 8%
Q g—/// i Y i} //
/ SIDE VIEW /
WELDED
i 1™
4 HOLES 912 %
L% CHANNEL BASE & FDN DETAIL
z (BOTTOM VIEW)
4 HOLES 812
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 PIPE, SCH 40 (L:1150mm) 2" CARBON STEEL 1 Piece
2 PIPE, SCH 40 (L:450mm) 2" CARBON STEEL 3 Piece
3 PIPE, SCH 40 (L:1000mm) 2" CARBON STEEL 1 Piece
4 CAP, SCH 40 2" CARBON STEEL 3 Piece
5 PLATE 250 x 250 x 6t CARBON STEEL 1 Piece
6 EXPANSION BOLT M210 x 100L CARBON STEEL H.D.G. 4 Piece
7 STIFFENER PLATE 80 x 200 x 6t CARBON STEEL 4 Piece




C COPRE S RPN PR 57 EPRCHCY R COPS e @‘
N

S < 1 Kot 15 58 (,S| 5wy, Olast! HIRGAN
NISOC PR C“’ A AN} > =) (‘ENERGY ED
:O““i‘i ‘3)\“"; TYPICAL INSTRUMENT INSTALLATION DRAWING

053-073-9184

055

6wy foaiS oo | oMges aty |8 & JL 45 8

BK

GCS PEDCO 120 IN DW 0001 DO1

CONTACT MOULDED TYPE FLAT COVER
RECOMMENDED: ONE CLAMP FOR EVERY 1.5M

FRD FLAT COVER

REFER COVER DRAWING
FOR DETAIL

SEE COVER CLAMP DETAIL

w

ﬁ, M8 THREADED HOLE

FOR SS316 HEXAGON BOLT
D=4 M8 X 10 & SPRING WASHER
/@

%% Rewmﬁu%%&er of 3 meter
VER CLAMP DETAIL-SS316

(CC-SS)

CC-SS

LADDER TYPE| H Wi| t A B REMARKS

LH 1563 | 32 | 20| 42 15 | W2=200,300,400,450,600




ST e

NISOC &V_H‘sd,}]’c@o&;ﬁ' 2 j@é‘jq;)\‘,'”' :HIRGAN

b C COPRE S RPN PR 57 EPRCHCY R COPS e @‘
N

:Q““.‘.:’ ")L‘*; TYPICAL INSTRUMENT INSTALLATION DRAWING
-1 s .
053-073-9184 o5an |6l oS nlo [ Mg | an, | S pp| Jle | an 28 5110 ramio o)l
BK GCS PEDCO 120 IN DW 0001 D01
Weld
450 i i 400 i
= f R
o o o
o o O
m 3 s\ 3]: I3
i ¢ IR
i O Instrument
H =
Gl o

<]
Sle
H\_J_J

Stanchion (2" Pipe)

/,\«200»

Y

(o) 7

@® § 100 [
I (® g
<
o]
Fig. 1
SUNSHADE MANUFACTURED AT SITE BY INSTRUMENT INSTALLATION CONTRACTOR, 400
FROM 2.31 MM THICKNESS CARBON STEEL, MOUNTED WITH 2" SIZE U-BOLTS, NUTS AND
WASHERS, ALL SHARP EDGES TO BE REMOVED AFTER CUTTING AND WELDING THEN
PAINTED. .
Development of Fig. 1
CODE DESCRIPTION SIZE QTY. MATERIAL
03 STEEL ANGLE L 40x40x2.31t 09m CARBON STEEL,SCH40
09 U BOLT & NUT WITH SPRING WASHER FOR 2" PIPE 2"@ 1 CARBON STEEL




N et et S
K COVRNET SECARYORN I Sl 7] IPRRORA RV S S P @
= . Y ™
SR o
NISOC KCIVEPIN| qulﬁ;...;' 5 )'15(,5|,'; @5, Sl :‘Ek%%él%l  e— zD
:Q‘%{{—j O)Lvl‘ TYPICAL INSTRUMENT INSTALLATION DRAWING
N o .
053-073-9184 05z |6 [ plo] g | w2, [Swps| S | 6 28 5T samio o)l
BK | ccs | PEDCO | 120 N ow | ooot | Do
JUNCTION BOX INSTALLATION , SINGLE (PAVED AREA)
~—— TO BE DETERMINED AT SITE —
JUNCTION BOX )
w
=
)
=
<
fa) ~
e
5 L
i —
a 3
% i @—
o QK
o
[d] | & E
= -
JGL SEE  DETAIL "A /)
/£
27 z P ‘A B
- IR JE
250
180
‘<—>‘ Aﬁk 10
o
&
@15
DETAIL "A”
ITEM DESCRIPTION SIZE MATERIAL QUgN'RE UNIT
1 PLATE 250 x 250 x 10t CARBON STEEL 2 Piece
2 EQUAL ANGLE 50 x 50 X 5t CARBON STEEL 2 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 5 Meter
4 EARTH LUG FLAT BAR, TWO HOLES @6 .5mm 100 x50 x 6t CARBON STEEL 1 Piece
5 EXPANSION BOLTS M12 x 100L CARﬁODNéTEEL 8 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARaODNéTEEL 4 Piece




S 6551 or ol 5 58 (ST s, St

EREAY ==
NISOC e @
:Q““.‘.:’ a)\“*; TYPICAL INSTRUMENT INSTALLATION DRAWING
053-073-9184 o5an |6l oS nlo [ Mg | an, | S pp| Jle | an 28 51 12 raeie o)l
BK GCS PEDCO 120 IN DW 0001 D01

JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREA)

TO BE DETERMINED AT SITE

L'J_J JUNCTION BOX JUNCTION BOX
5
oy
< 250
~
8 L LN 10
§ ? ﬁ /.>® ' | =
] o i 4
= o
[ gy J
y —® 74% A;L g
= 7 Z 15
9 3| L° . “ o Z/ DETAIL "A" o
SEE  DETAIL "A” /@)
a ) ey ) (D\ )
ITEM DESCRIPTION SIZE MATERIAL QUAN-REQ | 7
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE 50 x 50 x 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 7 Meter
4 EARTH LUG FLAT BAR, TWO HOLES @6 5mm 100 X 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12 x 100L CAREF[;\‘GSTEEL 12 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARE'OS\'GSTEEL 8 Piece




S 6551 or ol 5 58 (ST s, St

HIRGAN ——)
NISOC @y =
:Q“Q{{—j O)Lvl’ TYPICAL INSTRUMENT INSTALLATION DRAWING
| o )
053-073-9184 05z |6 [ plo] g | w2, [Swps| S | 6 28 5113 samdo o)l
BK | ccs | PEDCO | 120 N ow | ooot | Do
JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREA)
TO BE DETERMINED AT SITE
L'LJ JUNCTION BOX JUNCTION BOX JUNCTION BOX
5
=
<C
a ~
w N~
o |
- i i i
i ]
EC)
o5 —O
o3
m Q)\
e EE:|
SEE DETAIL "A" (D\ f
250
180
TR A
g I
Ip]
ad
7’*%* 3%(’ =
@15
DETAIL "A"
ITEM DESCRIPTION SIZE MATERIAL QUAN-REQ | 7
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE 50 x 50 x 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 7 Meter
4 EARTH LUG FLAT BAR, TWO HOLES @6 5mm 100 x50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12 x 100L CAREF[;\‘GSTEEL 12 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARE'OS\'GSTEEL 8 Piece




& Sy 5 o laee 3ty Gl 5 c2lags o5 @‘
m oY Ik .PEDCO
NISOC S 551 oz Bl 5 58 (ST i, S last @ ’E’
:O““’ﬁ'ﬁ a)l“‘“: TYPICAL INSTRUMENT INSTALLATION DRAWING
053-073-9184 x| e oS o] odgs [, [Saps] e | s 28 5 14 amie ol
BK GCS PEDCO 120 IN DW 0001 DO1

JUNCTION BOX INSTALLATION , SINGLE (UNPAVED AREA)

—+~ TO BE DETERMINED AT SITE =
w JUNCTION BOX
W
%]
-
<
[a] <
L ~Ny - e
z
= ﬁ P ﬁ
e ~
o -
8 S
" i ®
° \EXI R I=
SEE  DETAIL "A” K
5 ‘o ) £ a1l 1 NE (i
AT e 11 SRR é CONCRETE. BLOCK(SEE. NOTE 2 TR
; “,A" v Lo I PPE e «
7 RTINSV AR o s Ceoos
R t s 250 Setae
R75% TSN TR Z 180 N
‘ ‘ 4Hk 10 300
\r T0_BE DETERMINED AT SITE { T ‘ ‘ . P—ﬁ
T
&
L*%% %* &
T T
@15
DETAIL "A”
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ UNIT
1 PLATE 250 x 250 x 10t CARBON STEEL 2 Piece
2 EQUAL ANGLE 50 x50 x 5t CARBON STEEL 2 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 5 Meter
4 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 x 50 x 6t CARBON STEEL 1 Piece
5 EXPANSION BOLTS M12 x 100L CARBON STEEL 8 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEEL 4 Piece




S 6551 or ol 5 58 (ST s, St

HIRGAN ——)
NISOC @ 1=
:Qtev:—j O)Lvl’ TYPICAL INSTRUMENT INSTALLATION DRAWING
-1 L .
053-073-9184 05z |6 [ plo] g | w2, [Swps| S | 6 28 5115 samio o)l
BK ccs | pebco | 120 IN ow | ooot | Do
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREA)
TO BE DETERMINED AT SITE
L'J_J JUNCTION BOX JUNCTION BOX
@
=
<
[a] ~
L N~
] {
: ? ﬁ PO
& 1
- o
w o
o < —0O
% Q)\
9 § | ‘ odi’
SEE DETAIL "A” /@)
o M = & M ®\ & %
’ ‘ P 5 pipE S B S’J:P\PE ’
= T : oL, ~—CONCRETE BLOCK(SEE NOTE 2)
=) s : e A
41 ; 4 4 , P s . 7, 250
} T0 BE DETERMINED AT SITE { !&! »H« 10
1 | [
IR I
Ip]
ad
7% %ﬁ’ H
@15
DETAIL "A"
ITEM DESCRIPTION SIZE MATERIAL QUAN-REQ | 7
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE 50 x 50 x 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 7 Meter
4 EARTH LUG FLAT BAR, TWO HOLES #6.5mm 100 x 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12x100L | CARBONSTEELHDG| 12 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEEL H.D.G 8 Piece




'
ST e
NISOC vi(.:u_#,s)ﬂcqolﬁ;w.:'); )-15(,5[; @5, Sl :.E&%%él%l Eza
:Q““i'i a)L»L TYPICAL INSTRUMENT INSTALLATION DRAWING
! cais o Lt
053-073-9184 o5an |6l oS nlo [ Mg | an, | S pp| Jle | an %8 5116 o)l
BK 6cs | pEDCO | 120 N ow | ooot | Dot

250

JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREA)

TO BE DETERMINED AT SITE

L'J_J JUNCTION BOX JUNCTION BOX JUNCTION BOX

o

=

<

[a] ~

L I~

P4

- i i T °

i ]

- o

w o

o 3 —0®

% q

e | gl EEll

SEE  DETAIL "A"
< A & & A & & A K & =4
< 4 o AA . < . - 4 a . . : P j P j S ) . <
‘ ) ¢ 3" PJPE, . o TS PR, @ j 3 PPE e
E 4 “ N g “ S . M i . A T N
} T0 BE DETERMINED AT SITE _‘[
250
!J@H —H-—10
4% A% :
g5
DETAIL "A”
ITEM DESCRIPTION SIZE MATERIAL QUAN-REQ | 7

1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE 50 x 50 x 5t CARBON STEEL 4 Meter
3 U-CHANNEL 100 x 45 x 5t CARBON STEEL 7 Meter
4 EARTH LUG FLAT BAR TWO HOLES @6.5mm 100 x 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12x100L | CARBONSTEELHDG| 12 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEEL HD.G 8 Piece




NISOC KCIVEPIN| qulﬁ;...;' 50 58 (’S‘!'; @5, Sl :‘Ek%%él%l  e— zD
:Q‘w:—j O)LMZ TYPICAL INSTRUMENT INSTALLATION DRAWING
| o )
053-073-9184 05z |6 [ plo] g | w2, [Swps| S | 6 28 5117 samdo o)l
BK | ccs | PEDCO | 120 N ow | ooot | Do
INSTALLATION SMOKE/HEAT DETECTOR UNDER CEILING
CONCRETE CEILING
® \ ®
< a a ” pa)
4 < N 4 4'q 44\/ )
‘ a 4 4 M <
- ﬁ - 1 yﬁe < f .4 H : -4 = ﬁ
il Lﬁ%)” T E@M
/) / N2 \
D DETECTOR
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
. CARBON STEEL
1 CONDUIT 1 SoNS 8 Meter
2 FLEXIBLE CONDUIT 1 CARBON STEEL 05 Meter
3 CONDUIT STRAP 1 CARBON STEEL 2 Piece
H.D.G.

4 | SCREW & FIBER/PLASTIC PLUG M8 CARBON STEEL 15 Piece
5 | SCREW & FIBER/PLASTIC PLUG M10 CARBON STEEL 4 Piece
6 |CONDUIT BOXWITHROLLBOLTS| 100 x 100 x 50mm CARaODNéTEEL 1 Piece




NISOC KCIVEPIN| qul&'.'...,.;' 50 )'15(,5|; @5, Sl :‘Ek%%él%l — zD
:O““.‘.:’ ")L‘*; TYPICAL INSTRUMENT INSTALLATION DRAWING
-1 s .
053-073-9184 o5an |6l oS nlo [ Mg | an, | S pp| Jle | an 28 5118 ramio o)l
BK 6cs | pEDCO | 120 N ow | ooot | Dot

INSTALLATION SMOKE/HEAT DETECTOR IN CONTROL ROOM

CHECKER PLATE

CABLE TRENCH

I
i ! |
‘ i =y
R
CONCRETE FLOOR
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
. CARBON STEEL
1 CONDUIT 1 BoNS 1 Meter
2 FLEXIBLE CONDUIT 1" CARﬁODNGSTEEL 05 Meter
3 CONDUIT STRAP 1" CARﬁODNéTEEL 2 Piece
4 CONDUIT BEND 1 CARﬁODNéTEEL 05 Meter
5 | SCREW & FIBER/PLASTIC PLUG M10 CARBON STEEL 20 Piece
6 |CONDUITBOXWITHROLLBOLTS| 100 x 100 x 50mm CARaODNéTEEL 1 Piece
7 ANGLE 60X 60 x 6t CARBON STEEL Meter
8 PLATE 150 x 150 x 4t CARBON STEEL Piece
9 BOLTS & NUTS M8 CARaODNéTEEL 6 Piece




—

& S i ol adg Gl 5 2 lag o34, @‘
N

NISOC KCIVEPIN| qulﬁ;...;' 5 )'15(,5|,'; @5, Sl :‘Ek%%él%l  e— zD
:O““.‘.:’ ")L‘*; TYPICAL INSTRUMENT INSTALLATION DRAWING
! cdao 5
053-073-9184 o5an |6l oS nlo [ Mg | an, | S pp| Jle | an %8 5119 o)l
BK 6cs | pEDCO | 120 N ow | ooot | Dot

NSTALLATION MANUAL CALL POINT,HORN AND FLASH BEACON ON WALL (BUILDING

@— el 2 CONCRETE/MASONRY WALL @ e i CONCRETE/MASONRY WALL
’ \( 3 Lece v \<
® L ® ® —=—®
oo Yoo
. ! | !
/ll( /ll(
MANUAL CALL POINT = o @ FIRE ALARM HORN / BELL < @
1 [ o FLASHER BEACON i Yo
5% ‘ it P
< SRR
AR <
< - i < 4 i
‘ <z < 2
[ 0 v, '
g <. 2 <l
~ Ford o ok
= ; Qv i
Ly (\ LL & (\ 44
\ 1 | 1
L L
< ¥ < ¥
o FINISHED FLOOR ‘ FINISHED FLOOR
- < o >
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 FLEXIBLE CONDUIT 1" CARBON STEEL H.D.G. 05 Meter
2 CONDUIT 1" CARBON STEEL H.D.G. 15 Meter
3 CONDUIT STRAP 1" CARBON STEEL H.D.G. 15 Piece
4 SCREW & FIBER/PLASTIC PLUG M8 CARBON STEEL 15 Piece
5 SCREW & FIBER/PLASTIC PLUG M10 CARBON STEEL 4 Piece




o

o >,y iCJﬁ..
Ko N o PEPC
= =
s T CCO Y (’S‘ 5wy, Olast! HIRGAN ——)
NISOC ~CB K] C“" AN L] B 2PN (‘ENERGY ED
:Q‘A-:—j ‘3)\4‘; TYPICAL INSTRUMENT INSTALLATION DRAWING
- T ~ 1 = 1 ; . 28 ;1 20 e ol
053-073—-9184 5ap |6, a | oaS oo | o g sy (S & b e J J
BK GCS PEDCO 120 IN Dw 0001 DO1
FIRE ALARM HORN
FLASH LIGHT I
L ©
® S
D
™
o
(an)
™
o
el
®
7\ 74
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 BOLTS & NUTS M8 CARBON STEEL 8 Piece
2 FLEXIBLE CONDUIT 1" CARBON STEEL 05 Meter
3 CONDUIT 1" CARBON STEEL 2 Meter
4 CONDUIT STRAP 1" CARBON STEEL 4 Piece
5 PLATE 200X 400 X 5t CARBON STEEL 1 Piece
6 STIFFENER PLATE 80 %200 x 6t CARBON STEEL 4 Piece
7 EXPANSION BOLTS M12x 100L CARBON STEEL 4 Piece
8 U-CHANNEL 100 % 45x 5t CARBON STEEL 356 Meter
9 PLATE 250 x 250 x 10t CARBON STEEL 1 Piece




PIT WALL

JOTES:

FLAME DETECTOR

QO

UUUUUUj
0000000

000000
000000

— L SEE DETAIL "A”

—
—
-

300mm (Note1)

WELD

LOCATION

o/ EQUIPMENT

PUMP SHELTER 7
COLUMN
7

v

SR, 2o
S &, 8] Kot 15 58 (,S| 5wy, Olast! HIRGAN —)
NISOC o3 C“’ 2 02 D > 24} (.ENERGY ED
:O““ﬁ‘i ‘3)\“"; TYPICAL INSTRUMENT INSTALLATION DRAWING
053-073-9184 o5an |6l oS nlo [ Mg | an, | S pp| Jle | an 28 e ool
BK GCS PEDCO 120 IN DW 0001 DO1
INSTALLATION DETAIL FOR FLAME DETECTOR
SEE DETAIL "A” SIDE VIEW

DETAIL "A”

FIXING HOLE

120°

— FOR MOUNTING ON STEEL STRUCTURE, MOUNTING PLATE/BRACKET OF THE DETECTOR IF POSSIBLE SHOULD BE WELDED.
— MOUNTING PLATE/BRACKET SHOULD BE SUPPLIED BY F&G DETECTOR VENDOR.

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 FLEXIBLE CONDUIT 1 CARﬁODNéTEEL 05 Meter
2 EXPANSION BOLTS M12 x 100L CARaODNéTEEL 3 Piece




Fo! e
S &, 8] Kot 15 58 (,S| RTERNNCH KPS HIRGAN —)
NISOC o3 C“’ 2 02 D > 24} (‘ENERGY ED
:O““’ﬁ'ﬁ 0)\“‘; TYPICAL INSTRUMENT INSTALLATION DRAWING

053-073-9184

055

&8 s [oasS sle | oM 4, é%u{,;

Jb e

BK

GCS PEDCO 120 IN DW

0001 DO1

CABLE ROUTE MARKER POSTS

450

® L]
(a»)
Q L] L]
| |
= i CONCRETE OR (D_(NOTE 1)
) FINISHED GRADE ASPHALT PAVING 1
Nl \ SOV ! — )
3 .
o
; e
| |
o
i)
o) -
75
\ \
—+0 o
o ol O
) ~|
J
[ INSTR. CABLE®
SIGN "C”
‘ 250 ‘
” ” . ”
TYPE A" UNPAVED ARFA TYPE B° PAVED ARFA
ITEM DESCRIPTION SIZE MATERIAL QuanreQ. | UNIT
1 CABLE ROUTE MARKER SIGN (SUS) 1 Piece
2 BOLT AND NUT WITH 1-SPRING. 2-FLAT WASHERS (SUS) M6 x 25L CARBON STEEL H.D.G. 4 Piece
TYPE"A"
3 STEEL CHANNEL WHITE COLOR PAINTED 120 x 55 x 5t STAINLESS STEEL 1 Piece
4 ROUTE MARKER POSTS 1 Piece
1 CABLE ROUTE MARKER SIGN (SUS) 1 Piece
2 SPACER MORTAR 1 Piece
TYPE"B"
3 MASONRY ANCHOR WITHOUT STUD-M6 1 Piece
ROUND HEAD BOLT WITH 1-SPRING. 1-FLAT WASHER (SUS) . :
4 P A N (8U8) M6 x 25L CARBON STEEL H.D.G. 4 Piece




& S i ol adg Gl 5 2 lag o34, @‘
N

NISOC Ko 650l oz ol 55 8 (ST5hs, Slast C.gg%%@; ’:’zg

:Q““.‘.‘i °)L‘*; TYPICAL INSTRUMENT INSTALLATION DRAWING

053-073-9184 039 p 6)6‘““% cA;;S_))Lp Mg LS 5)«\a {y JL).a Ao

BK GCS PEDCO 120 IN DW 0001 DO1

INSTRUMENT CABLE INSTALLATION AROUND JUNCTION BOX

MULTI CABLE

JUNCTION BOX

NON. HARDENING SEALING COMPOUND

s BUSHING

APPR. 1500

+X_CONDUIT PIPE

SEE DETAIL'A”

v

DETAIL"A”

SAND FILLING

RIGID STEEL GALVANIZED CONDUIT

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 CABLE TRAY WITH COVER Width=300 mm CARBON STEEL H.D.G. 15 Meter
2 CONDUIT 3" CARBON STEEL H.D.G. 0.8 Meter
3 BUSHING 3" CARBON STEEL 1 Piece




& K 2 ol adg Gl 5 w2 lagls o5 @
— Y1 ™
SR, e
NISOC &3‘5)51@;0&:_...3' 5L JSPS'J-;QJJQ'J;' :.I];II{I}‘QE%%I‘\{I Eﬂ
:O\“ti °)LM3 TYPICAL INSTRUMENT INSTALLATION DRAWING
-1 e N
053-073-9184 o59n |6 oS nlo [ s | ad, | Syl pp| Sl | ane 28 5l 24 ramio o)l
BK GCS PEDCO 120 IN DW 0001 DO1

INSTALLATION DETAIL FOR CABLE AROUND THE LOCAL INSTRUMENTS

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 CABLE TRAY WITH COVER Width=300 mm CARBON STEEL H.D.G. 15 Meter
2 CONDUIT 3" CARBON STEEL H.D.G. 0.8 Meter
3 BUSHING 3" CARBON STEEL 1 Piece




‘ S s ol s Gl Bl 5 w2 lagls o550 @
— . yt h
SR, e
NISOC S sl gor oKl 55 5 (15 i, last @ EF
:O\“ti ")u TYPICAL INSTRUMENT INSTALLATION DRAWING
-1 e N
053-073-9184 o59n |6 oS nlo [ s | ad, | Syl pp| Sl | ane 28 51 25 rambo o)l
BK GCS PEDCO 120 IN DW 0001 DO1
CABLE TRAY SUPPORT
/\A/\A/\z C T~
eoe || U EE
< ||opo
e U
| (TYPICAL)
voy Ay A"
@ Iy 18mm DIA. FOR 16mm BOLTS
@ [
N CONCRETE_WALL NOTE 1 ( : 7 TV | g s
28] &) &)
200
VIEW "A”
250

SUPPORT TO CONCRETE WALL

OTES :

1— SIZE & NUMBER OF TRAYS TO SUIT

QUANTITY & SIZE OF INST.

CABLES.

BASE PLATE (TYPICAL)

= | No.| SIZE IN

= [REQ | MILLIMETER DESCRIPTION MATERIAL REMARKS
1 - 40x40x6mm ANGLE,EQUAL MILD STEEL

2 - 6x100mm BAR,FLAT MILD STEEL

3 — Bmm BASE PLATE,STRUC.QUALITY,250x200mm MILD STEEL

4 — 200mm CABLE TRAY WITH COVER GALVANZED STEEL

5 — 16mmx115mm FOUNDATION BOLT (RAWL BOLT) MILD STEEL

6 - M6x20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL

7 - 8mm WASHER, ROUND FLAT GALVANIZED STEEL




S CUNEFCIRINNR IRV 1 QPO KV S Py

@,

'
SR, e
NISOC S sl gor oKl 55 5 (15 i, last @ EF
:O\“ti ")u TYPICAL INSTRUMENT INSTALLATION DRAWING
-1 e N
053-073-9184 o59n |6 oS nlo [ s | ad, | Syl pp| Sl | ane 28 51 26 ambo o)l
BK GCS PEDCO 120 IN DW 0001 DO1

TYPICAL 90° CHANGE IN

DIRECTION OF CABLE TRAY

—

WELD

=
—= 1=

100

VIEW "A”

—(2)
T

TYPICAL METHODS OF TRAY SUPPORT IN

(TYPICAL)

TYPICAL

WELDED _——"

= | No.| SIZE IN

=2

2 |REQ |MILLIMETER DESCRIPTION MATERIAL REMARKS
1 — 40x40x6mm ANGLE,EQUAL MILD STEEL

2 - B6x50mm BAR,FLAT MILD STEEL

35 | — 10x250mm MOUNTING STRIP Ss.

4 - 70mm CABLE TRAY WITH COVER GALVANIZED STEEL
5 — 70mm RISER,UNIVERSAL,INNER BEND 90 WITH COVER GALVANIZED STEEL
[} — 70mm RISER,UNIVERSAL,OUTER BEND 90" WITH COVER GALVANIZED STEEL
7 — 70mm BEND,SECTIONAL WITH COVER GALVANIZED STEEL
8 — M6x20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVINAZED STEEL
g — 8mm WASHER, ROUND FLAT GALVINAZED STEEL




'S S CUNEFCIRINNR IRV 1 QPO KV S Py @‘
h

ST e

= . .
NISOC K CIRPIN| C&.?olﬂ:_...:' 5 J'lf(,ffj 5, Slast :‘]}21!{1%%1; Ezg
ol o,k TYPICAL INSTRUMENT INSTALLATION DRAWING
-1 s N
053-073-9184 o59n |6 oS nlo [ s | ad, | Syl pp| Sl | ane 28 5127 rambo o)l
BK ces | pEDCO | 120 N ow | ocoot | Do1

CABLE TRAY SUPPORT

! “-'—L. ) :
‘ 1 O

Y
Vi o

N
/
Ymin=400

5
o
'
&)
200
250
a
=
(
\
7
X

250 #%

> S

o

<

@ T WELDED

NO. OF TRAY X 8
1 500mm
2 900mm

SUPPORT TO CONCRETE CEILING

3 1300mm

NOTES :

1— ALL DIMENSIONS IN MILLIMETER UNLESS OTHERWISE STATED.
P— X & Y LENGTHS TO BE DETERMINED AT SITE ACCORDING TO NUMBER OF CABLE TRAY.

Z| No.| SIZE IN

=

& [REQ |MILLIMETER DESCRIPTION MATERIAL REMARKS
1 — 40x40x6mm ANGLE,EQUAL MILD STEEL

2 — 60xB0x8mm ANGLE EQUAL MILD STEEL

3 — 6mm BASE PLATE,STRUC.QUALITY,250x250mm MILD STEEL

4 — 500mm CABLE TRAY WITH COVER GALVANIZED STEEL

5 — 18mMmmx50mm FOUNDATION BOLT (RAWL BOLT) MILD STEEL

6 — MBx20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL

7 — 8mm WASHER, ROUND FLAT GALVANIZED STEEL




LR

& S i ol ad g Gl 5 calag o35,

@,

PEDCO

= . .
NISOC K CIRPIN| C&.?oliz.....:' 4o 58 S s, slast :‘glg%gég E}G
:Q\%i ")L\'L TYPICAL INSTRUMENT INSTALLATION DRAWING
: : 3! tamio o,k
053-073-9184 532 [ aw oS plo| Mg |ty | Smpn| Jm [ o <8 51 e8 *
BK GCS PEDCO 120 IN DW 0001 DO1
CABLE TRAY SUPPORT
( : ) i P —_
T
WELDED 2
i=]
i=3 Q)
i 1
i £ (TYPICAL)
> e LL L]
[={
:
(D) L
WELDED o
(=]
<+
@\u L1 \ ]F
<] NaZa
o
P R A g
SUPPORT TO STEEL STRUCTURE SUPPORT TO STEEL COLUMN
NO. OF TRAY X NO. OF TRAY X
1 500mm 1 500mm
900mm 2 900mm
1300mm 3 1300mm
NOTES :
1— ALL DIMENSIONS IN MILLIMETER UNLESS OTHERWISE STATED.
2— X & Y LENGTHS TO BE DETERMINED AT SITE ACCORDING TO NUMBER OF CABLE TRAY.
E No SIZE IN DESCRIPTION MATERIAL REMARKS
£ REQ |MILLIMETER
= 40x40x6mm | ANGLE,EQUAL MILD STEEL
2 | — 60x60x8mm | ANGLE EQUAL MILD STEEL
3| — 6mm BASE PLATE,STRUC.QUALITY,250x250mm MILD STEEL
4 — 500mm CABLE TRAY WITH COVER GALVANIZED STEEL
5 | — 200mm CABLE TRAY WITH COVER GALVANIZED STEEL
6 - 16mmx50mm | BLACK BOLT & NUTS,HEAVY SEREIS STEEL
7 | = MBx20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL
s | — Srm WASHER, ROUND FLAT GALVANIZED STEEL




	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)
	BK-GCS-PEDCO-120-IN-DW-0001_D00 Model (1)

